DU MA Political Science

Topic:- DU_J19_MA_PS
1) Which of the following statement is correct with regard to Raja Rammohan Roy?

AT IHHES A & IR H fA=fafad § 9 o9 91 $oF 9 27

[Question ID = 3044]

o _ T B e | favary )
1. Belief in the existence of the soul / [Option ID = 12174]
. | T qadifie waten wen @ v
2. Belief in one Universal Supreme Being / [Option ID = 12173]

g & 91€ wilaq A favary

3. Belief in life after death / [Option ID = 12175]

gl _
4, All of these / [Option ID = 12176]
Correct Answer :-
P AIHIE Hateg g ® favasy

» Belief in one Universal Supreme Being / [Option ID = 12173]

2) Which of the following books described state power in India as occupying a continuum with "centralisation and
concentration” at one end and “decentralisation and pluralism” on the other?

fArafaf@a # & St @ Tras aRa # Ts7 uFd F1 qofa FId gU T Fec € 7 7@ o A Felntor HR ahaor A g@dh i R sk
qgAAE” F Wiads (Fieewgn) ¥ wafeua §?

[Question ID = 26101]

RYse A )
1. In Pursuit of Lakshmi / i [Option ID = 44399]

sfears uifeiieda gAY, 1947—1977— T UGdTdl Rareye

2. India’s Political Economy, 1947-1977-The Gradual Revolution /
[Option 1D = 44402]

3. The Political Economy of Development / < I||EI|EﬂiE gDl " “ I IEEE i [Option ID = 44401]
g W U8 ufadt A

4, The State and Poverty in India / [Option ID = 44400]

Correct Answer :-

 In Pursuit of Lakshmi / g i: ) [Option ID = 44399]

3) Which of the following does not figure in Almond & Verba's classification of Political Cultures?

ot § 9 s &R 99i gRT Ao Iod S¥pld @ aifiheer H AHH el o 82

[Question ID = 3051]
1. Evaluative orientation / [Option ID = 12203]
2. Cognitive orientation / [Option ID = 12201]

3. Affective orientation / 1 [Option ID = 12202]
T g [Option ID = 12204]

4, Empirical orientation /

Correct Answer :-

» Empirical orientation / E 1 [Option ID = 12204]
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4) Which one of the following is a transformationalist view of globalization:

frreiforfaa & 9 ®I9 dedfiovr &1 uRad-ard! giesior 27

[Question ID = 24102]

1. Globalisation is not leading to the withering away of nation states rather to the emergence of a conspicuously global politics in which the
traditional distinction between domestic and international affairs is not enough meaningful. / SS1T0T & ST ISE-TT=AT FT &T0T 78T &7 BT &,
aﬁwmmmﬂmﬁm%,ﬁ'nuia?amaﬁaﬂwﬁmﬁ@unmﬁ#wﬁ%aimmaym%aﬁm@%[ﬂmm
ID = 36409]

AT IHRT  BRUT WH AT—IT BT HIT B W@ B

2. Globalisation is bringing about the demise of sovereign nation-state / [Option ID
= 36405]
3. States and geopolitics remain the principle forces shaping contemporary world order. /

A R F—aita 3l H GReeH % @aRn $i AHR S el 5 Aieadl a1 g8 8 W——
4, Geopolitics, state power, nationalism and territorial boundaries are of growing, not less, importance in world politics. /

foreg wofa § oG, I59 W91, TAE IR AT AR BT " $9 Ag] 5 B, dfod sUW g1

Bl EEI g [Option ID
= 36407]

Correct Answer :-

» Globalisation is not leading to the withering away of nation states rather to the emergence of a conspicuously global politics in which the
traditional distinction between domestic and international affairs is not enough meaningful. / 3%dTsR0T & SHROT ISC-TSAT T &T0T 16T a1 T
¢, afed o 0l Affas TN 1 3eT & T &, ForaA e e A aUeda Al & aRIRE Ha He agd e rEE A8 E T E
[Option ID = 36409]

5) Which one of the following is not a text related to Classical Realism?

feafaf@a # @ sla @ [wos FoiRey gurdae § gafta a8 &2

[Question ID = 26125]

g " T 0]
1. Politics among Nations / [Option ID = 44498]
_ 2fedt offp e ufaw uifefees
2. Tragedy of Great Power Politics / [Option ID = 44496]
T fus
3. The Prince / [Option ID = 44497]

4. The Peloponnesian War / T YANHRET IR [Option ID = 44495]

Correct Answer :-

2z E‘LlﬁFél gifeifedy .
« Tragedy of Great Power Politics / [Option ID = 44496

6) Which among the following can be associated with Aurobindo’s beliefs?

frrafafaa ¥ 9 fea orfiT & favaral 9 Sier &1 wear 27
[Question ID = 26111]

1. His conviction that he did not regard the country as an inert object, but as Mother / 3o I Te-favay fa 3 U 1 U fATSHT avg #¢T afesw
HT AT3T [Option ID = 44441]

2. His resolve that he would not merely repeat the name of God, but have direct realisation of Him / 35T 98 Te-Toay $ 9 o &% Swav & A1
T arerder afes 3aehT Teast Heifar o FEET [Option ID = 44440]

3. That his education and talent belong to God which could be utilised for personal happiness alone / o 3=7hr RIaT iR wiaT SR G HaEa &
TSRt 3T s safFaera et & forw fRar ST |erar & [Option ID = 44439]

4, All of these / 3uierd T3 [Option ID = 44442]

Correct Answer :-
« All of these / 3u3iea Tl [Option ID = 44442]

7) "I do not wish them (women) to have power over men; but over themselves.” These words are attributed to which of the
following thinkers?
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“H 7€ e & o (fEensh #1) genl . wfed ura & oy afes F Al € f 9 T W
wifdd urar & W | A v Frafefea 4 @ few fares 9@ 93 go

[Question ID = 26108]

1. Hannah Arendt / g==1 31{¢ [Option ID = 44430]

2. Mary Wollstonecraft / #§ atemelsshrae [Option ID = 44429]
3. J.S.Mill / =1, TH. A [Option ID = 44428]

4. Simone de Beauvoir / T8I g 133X [Option ID = 44427]

Correct Answer :-
« Mary Wollstonecraft / #{I dregelishee [Option ID = 44429]

8) Atul Kohli links his “crisis of governability” thesis to which of the following reasons:-

I DI YA U & Have! (H1efia i Tefaferd) of i @ fefafed 4 @ foa sreil 9 o
o
[Question ID = 3020]

R WRA H B SR awR ) TR TR

1. Pressing problems of law & order all over India / [Option ID = 12077]

2. Insecurity of the Congress leadership / m qﬁ'ﬁ il G?'ﬁ'\'ﬂ'ﬂ [Option ID = 12078]
3. Unequal socio-economic conditions / SR WTR%E—G&TM_CF W [Option ID = 12080]
4. Organisational decline of the Congress / Eﬁm-ﬂ Pl ?HTTET-I'EHT.E xR [Option ID = 12079]
Correct Answer :-
« Organisational decline of the Congress / H’WTQ:{ B1 HISAHS &RT [Option ID = 12079]
9) Communitarians argue that:-
HHEAE d <d & b
[Question ID = 3032]

TRt B U @ qdar e @ity
1. Communities must take precedence over nations / [Option ID = 12125]
2. Communal thinking is marally.wmngf WT&WT ﬁﬁF‘l ﬁﬁ‘ﬁi ¥q W Teld ? [Option ID = 12126]
3. None of these / ST 7 | T:lﬁé :Iﬁ [Option ID = 12128]

SERAIE AFEITA® e[l &1 SUs H T 8

4. Liberalism devalues communal attachments / [Option ID = 12127]

Correct Answer :-
SeRATE AFEITUS SS[l &1 SUsT &l 8
[Option ID = 12127]

« Liberalism devalues communal attachments /

10) Hanafi, Hanbali, Shafii and Maliki are Islamic:-

g™ W gAY, BaTel), WeTH) 3R wiferd) w®un €

[Question ID = 3045]

Hyera—3maa ugdaH

1. Sect-based Identities / [Option ID = 12179]
2. Religious practices / ETFﬁZF) AR [Option ID = 12180]

3. Ethnic Identities / e [Option ID = 12178]

4. Juridical Systems / T\’Im W [Option ID = 12177]
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Correct Answer :-

« Juridical Systems / ! [Option ID = 12177]

11) Positive Liberty implies that:-

AHRIHS Tad=dr &1 ef 2 :

[Question ID = 3030]

QUG T
1. All of these / [Option ID = 12120]

At @ oflgq @1 dEaR 991 @ forT g &Rl B Ghdr &

2. The state can make interventions for betterment of lives /
[Option ID = 12119]
3. One must be free to do things one considers positive /

frdY afdd &1 9 ™ FA B arAre) 21 Fifer 52 98 geRed JEar 2

[Option ID = 12117]
4, There must not be any constraints on the freedom of thought /

ffaa &Y anare W fHd aRe &1 $Ig ufaeer €t g Tt

[Option ID = 12118]

Correct Answer :-

i @ Wflgq &) dEaR 991 @ forr Usu B8Ry $Y gdhar 2

» The state can make interventions for betterment of lives /
[Option ID = 12119]

12) Identify the incorrect pair

T SIS BT TR DI |
[Question ID = 3067]

IeHifs e FfaeT sog 18

1. Political Development—Lucian W. Pye / [Option ID = 12268]

frivar Rigia— . ofl 9%

2. Dependency theory—A.G.Frank / [Option ID = 12266]
3. Civic Culture—Sydney Verba / TN EIH:EIEI_ BERlCE [Option ID = 12265]

1 i amed ¥4 [Option ID = 12267]

4. Modernization theory—Amartya Sen /

Correct Answer :-
g IHve fegia— aFed 69
» Modernization theory—Amartya Sen / [Option ID = 12267]

13) Rousseau’s idea of "perfectibility’ entails which of the following ideas?

Tl o1 ‘gofar &) evrar (uhaefaferd)) & faar F FrafoRa § @ o afufea 27
[Question ID = 3024]

1. Men are essentially good naturedfqim @1 ';I'a':)ﬁ"[ i e ﬁ 3] Ei'cﬁ g [Option ID = 12094]
2. Men have no basic essence / W ™ T:ﬁ\f_a‘ i i :Eﬁ E:EIT g
3 RESL R EFE( rﬁ‘ﬁ [Option ID = 12096]

T 3 ypfa g vu | 99 @

4, Nature of man is essentially bad / [Option ID = 12093]

[Option ID = 12095]

3. None of the above /

Correct Answer :-

14) "If I was asked to name any particular article in this Constitution as the most important- an article without which this
Constitution would be a nullity— I could not refer to any other article except this one.” — Ambedkar was referring to which
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article?

FEeH A 9 TP & IR | T2 Fel o IR qFH G @ B @9 AT &1 W o @ forg
FEl oal, Uh Ul eoe furde €91 Giau g9ae e 8 WeT— o | fodl oY e®e & 99l 89

IS BT M aAarl”

[Question ID = 3007]
BT 21

1. Article 21 / [Option ID = 12025]
BT 15

2. Article 15 / [Option ID = 12026]

3. Article 32 / I = [Option ID = 12027]

16
4, Article 16 / [Option ID = 12028]
Correct Answer :-

31?1_?533 32
. Article 32 / [Option ID = 12027]

15) The thought that the ‘advent of technology and industrialisation is the basic cause of human misery in modern society’ can
be attributed to which of the following thinkers?

gz foar fbe faure | 91 830 971 o waal 2 & smfe v d e iR e &1
TN GG BT T RO 27

[Question ID = 3046]

g1 TR faas

1. Bal Ganghadar Tilak / [Option ID = 12183]
MUTe BT TG

2. Gopal Krishna Gokhale / [Option ID = 12184]

3. Rabindranath Tagore / [Option ID = 12181]

4. MK.Gandhi/ 0 ®. ) [Option ID = 12182]

Correct Answer ;-
. MKGandhi; O @. TR

[Option ID = 12182]

16) The "Block Vote System” is also known as:-

"=Aie e faeed” B S o 8
[Question ID = 26122]

1. Proportional representation / 3fieJqricis 9faf=iftica [Option ID = 44485]
2. List system / F=iT 9oTrell [Option ID = 44486]

3. First-past-the-post system / 3731 & fa=iar (FFE 9Tee g-9iee [@Te#) [Option ID = 44483)
4, Limited vote system [ Ef#d Hd 9omell [Option ID = 44484]

Correct Answer :-
« First-past-the-post system / 31T & asar (W uree g-uiee f8Te#) [Option ID = 44483]

17) "“He is the head of the state but not of the executive. He represents the nation but does not rule the nation”. Who among the
following made this comment about the President of India?

"G5 Vo9 BT IWE B, offew Srdufersr &1 8T a8 g &7 fofAfr 8 |fes we o1 A8t fefolRen | § e
NG & Tedg & 9N H I8 fewuft 31 8

[Question ID = 3104]

1 AN FESHY _
1. B.R. Ambedkar / [Option ID = 12413]
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2. Sardar Patel / [Option ID = 12415]
HATT el HATH ATATE

3. Maulana Abul Kalam Azad /

4, Jawaharlal Nehru / [Option ID = 12414]

[Option ID = 12416]

Correct Answer :-

41 I FHEEHY ,
« B.R. Ambedkar / [Option ID = 12413]

18) Deliberative democracy is the idea that:-

fareft Seds a8 faar 2 f& -
[Question ID = 3034]

1. People must deliberate their choice of candidates / % I Eﬁ L WA T . .
[Option ID = 12134]

difed frarR—fansf ok ae—faare & T favfa fow s =fzo

2. Decisions must follow reasonable discussion and debate /

[Option ID = 12135]
JaEdfa @)1 afvarfe dieda & fov 8 2
T &1 o AT fear S afEn

3. Dissent delivers bad democracy / [Option ID = 12136]

4, Preference must be aggregated / [Option ID = 12133]

Correct Answer :-

dife® faarR—fawsf sk are—faare @ e faofa fow o =fgo

« Decisions must follow reasonable discussion and debate /
[Option ID = 12135]

19) Article 371 A of the Indian constitution provides special protections to which of the following states:-

ARAR e T 371¢ Feafaiea 9 9 5 =g &1 Ry g Syee & §

[Question ID = 3103]

IEH N HOTT

1. Assam and Meghalaya / [Option ID = 12410]
2. Maharashtra and Gujarat / BN 3T 8 [Option ID = 12409]
3. Jammu and Kashmir / i L‘?’ﬁ-" IR [Option ID = 12411]

GIIGLE! _
4, Nagaland / [Option ID = 12412]

Correct Answer :-

« MNagaland / [Option ID = 12412]

20) Who defined Development Administration as "action-oriented, goal-oriented administrative system”?

e s wuraa Y afeme “wd-3ifdeE, we-afiae s sgaeur” & 39 A #1872 [Question ID = 26117]

1. Fried W. Riggs /| P1=S S&%, e [Option ID = 44463]
gfde arcs!

2. Dwight Waldo / ™
USds digs—X

[Option ID = 44464]

3. Edward Weidner / [Option ID = 44466]
ot i

4. Robert Dahl / [Option ID = 44465]

Correct Answer :-

Usds digsdv
« Edward Weidner / [Option ID = 44466]
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21) Who among the following termed the four different bases of an Organisation as Four (4) 'P's?

fr=fofad 4 | f&ea 9769 @ IR Rl & IR (4) 'O @ 9 4 99 far?
[Question ID = 3062]

BRI Bl

1. Henry Fayol / [Option ID = 12247]
2. LD.White / O Sl ®EE [Option ID = 12246]

3. Luther Gullick / 1‘ I [Option ID = 12245]

4, Herbert Simon / : 2 [Option ID = 12248]
Correct Answer :-

» Luther Gullick / 15 I [Option ID = 12245]

22) Who among the following describes India as a "polycentric hierarchy”?

ﬁmﬁﬁa##ﬁmﬁmmaﬂam?ﬁﬂﬁ(ﬁﬁ#@wﬁ}#wﬁﬁmh
[Question ID = 26096]

1. Aseema Sinha / 3rETHT f&@=8T [Option ID = 44380]
2. M. P. Singh / v#. Y, g [Option ID = 44382]

3. Douglas Verney / 29Terd @=1 [Option ID = 44379]
4. Paul Wallace / 9Ter &1 [Option ID = 44381]

Correct Answer :-
« Aseema Sinha / 3r8taT f8=%T [Option ID = 44380]

23) Who among the following is considered to have inaugurated the liberal-reformist modernisation of India?

fferad 9 4 fhus IR d I A1 O € 6 99 9RA H SeR—QURad] ARG BRI BT B3N
H?

[Question ID = 3042]

AT IHAET AT

1. Raja Rammohan Roy / [Option ID = 12167]

st aRfde

2. Sri Aurobindo / [Option ID = 12168]

AR SR

3. Rabindranath Tagore / [Option ID = 12165]

gfhq d@g Few!

4, Bankim Chandra Chatterjee / [Option ID = 12166]

Correct Answer :-

AT IHHES I
+ Raja Rammohan Roy / [Option ID = 12167]

24) Who among the following identified the Indian state as interchangeably "weak” and “captured”?

fFrfeiaa # ¥ e Rda I9d &1 U2 Jeo—deddy BAaR X PR (o=E) & 9 H B
87

[Question ID = 3019]

vl deg-
1. Pranab Bardhan / [Option ID = 12073]

2. Pradeep Chhibber / [Option ID = 12076]

arwTy

3. Ashutosh Varshney / [Option ID = 12075]
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PIEA]

4, Atul Kohli / [Option ID = 12074]
Correct Answer :-

‘
« Atul Kohli / : [Option ID = 12074]

25) Who coined the terms, "Party of Consensus” and "Parties of Pressure”?

fefafag § 9§ foed "9HYead © g 3R "291dl @ oo YEdd] &l 9ad Usel JanT fhar?

[Question ID = 3016]

g Ut
1. Bruce Graham / [Option ID = 12064]
HdH B
2. Francine Frankel / [Option ID = 12063]

3. Myron Weiner / XA R [Option ID = 12061]
IAHT BIeN]

4. Rajni Kothari / [Option ID = 12062]

Correct Answer :-
SR IRCAGIED
» Raijni Kothari / [Option ID = 12062]

26) In which of the following years was the Central Vigilance Commission established by the Government of India?

rafaf@a & @ e o sRa TR gar &8 AR smaer i surger # 71=2fi? [Question ID = 26115]

1. 1961 [Option ID = 44455]
2. 1964 [Option ID = 44456]
3. 1967 [Option ID = 44457]
4. 1991 [Option ID = 44458]

Correct Answer :-
« 1964 [Option ID = 44456]

27) The institution of Ombudsman was first established in 1809 by which of the following countries?

frrfefad A @ fba 29 g1 9e9 UBet 1809 # ATHISHHT D1 GRAT RAMT BT 7T o

[Question ID = 3057]

1. Switzerland / : [Option ID = 12228]
e

2. Sweden / [Option ID = 12227]

3. United Kingdom / { : [Option ID = 12226]

4. Denmark / [Option ID = 12225]

Correct Answer :-

« Sweden / [Option ID = 12227]

28) Who coined the phrase, “iron law of oligarchy"?

“Tedd &1 die e @ gfaures e fear?

[Question ID = 3069]

Ry aaf
1. Sydney Verba / [Option ID = 12274]
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St

2. Harold Lasswell / [Option ID = 12276]

faepst Wet

3. Vilfredo Pareto / [Option ID = 12273]

ot [

e ffeew
4. Robert Michels / [Option ID = 12275]

Correct Answer :-
» Robert Michels / [Option ID = 12275]

29) What is the correct sequence of Morton Kaplan's model of systems analysis?

i. Balance of Power

ii. Loose Bipolarity

iii. Tight Bipolarity

iv. Universal International System

g fATeye & IR | #ie7 S9a™ @ AlSd & el SFHA 991 87

1. =fed &7 dqod
2 gl fegdman
3. WA feedigan

4. WEHIES AT wawR

[Question ID = 3074]

1. iv, i, iii, i [Option ID = 12295]
2. i, i, iii, iv [Option ID = 12296]
3. iii, iv, ii, i [Option ID = 12294]
4, iv, iii, ii, i [Option ID = 12293]

Correct Answer :-

« i, ii, iii, iv [Option ID = 12296]

30) Frederick W. Taylor's concept of "Mental Revolution” stands for:-

AR Hif | Haftd BeRE Sy, SR B AR Haford 2

[Question ID = 3060]

ﬁm ﬁ{Tij ) Hg{ﬁ'{[

1. Restricted Output and Cooperation / \,ﬂ"\f [Option ID = 12238]

2. Economy, Cooperation and Restricted Output / [Option ID = 12240]
3. Cooperation, Harmony and Restricted Output / E[Eﬂ] T, TR ‘?’m EDIECREUL [Option ID = 12237]
4, Harmony and Cooperation / 3]??{ E [Option ID = 12239]

Correct Answer :-

G 3R FE [Option ID = 12239]

« Harmony and Cooperation /

31) The philosophy of “dependent origination” can be attributed to which of the following traditions?

“ffk gl @ e & Aefefag 9 9 59 o 9 Sre1 &1 9&ar 87

[Question ID = 3040]

1. Ajivikas / [Option ID = 12160]
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dIeHvdIg

2. Brahmanism / A [Option ID = 12159]
o+ o
3. Jainism / [Option ID = 12157]
e
4, Buddhism / [Option ID = 12158]
Correct Answer :-

» Buddhism /

[Option ID = 12158]

32) Identify the correctly matched answer:-

A. Geneva Protocol i) Reduces Strategic Arms

B. Nuclear Non-Proliferation Treaty  ii) Limits spread of Nuclear Weapons
C. INF Treaty iii) Bans use of Chemical Weapons

D. START I Treaty iv) Bans two categories of land-based missiles

g1 T | Aferd SN B UBEE B

A. Sar gieieia 1) wrifes =t # Bl

B. g ferciewor @y 11) geaTe] SRRt ® gaR W HEr S

C. andous 5 111) TaEte sREaRt W W utEy

D. = —1 ®f 1v) 4% smnRa fFraEer @1 2t siftret @ gfeey

[Question ID = 3088]

1, A-i; B-ii; C-iii; D-iv [Option ID = 12349]
2. A-iv; B-iii; C-ii; D-i [Option ID = 12350]
3. A-ii; B-iii; C-i; D-iv [Option ID = 12352]
4. A-iii; B-ii; C-iv; D-i [Option ID = 12351]

Correct Answer :-
» A-iii; B-ii; C-iv; D-i [Option ID = 12351]

33) M.M. Punchhi Commission was constituted to review which of the following:-

TR H, g o Efeliaa § 9 fPaa) wien o @ form afea faar e
[Question ID = 3010]
1. Centre-state relations / N [Option ID = 12039]
2. Reorganisation of States / P g [Option ID = 12037]

3. Administrative Reforms / E [Option ID = 12038]
SITRETOT |

4, Reservation Policies / [Option ID = 12040]

Correct Answer :-

» Centre-state relations / N [Option ID = 12039]

34) The Duverger-Riker model tries to establish link between which of the following:-

gaai-fat Alse Aeafaf@a # & Reast S[zra Turfia Fa &1 wara &7t 8: [Question ID = 26098]

1. Electoral system and caste mobilization / FATdY caa®T 3R ST efr#sicr [Option ID = 44388]

2. Party system and electoral system / geflar a2 3R FoA1dl s@a+2T [Option ID = 44389]

3. Fundamental Rights and Directive Principles / #Fifers s1fae 3ilv #ifa Aews f&gria [Option 1D = 44387]
4. Federalism and Party system | ¥rearg 31T geira sgawdm [Option ID = 44390]

Correct Answer :-
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» Party system and electoral system / EelIdr sUaET 3R AT egaET [Option 1D = 44389]

35) “Life is not determined by consciousness but consciousness by life”. The line relates to:-

‘STl gaer & 99 9E 2 2 afew Faar foe @ 99 2 2 ) 9 9r9n w2
[Question ID = 3028]

U Wl

1. All of these / [Option ID = 12112]

2. Marx's critique of idealism / Jesfarg @1 A1 B TR
el &1 ¥U (BrH) &1 gl

[Option ID = 12111]

3. Plato’s theory of forms / [Option ID = 12110]

TREEied) R ©iel 1 A=l

4, Aristotle’s criticism of Plato / j’ (

[Option ID = 12109]

Correct Answer :-

Jreviare &) HIRd P GHRT

« Marx’s critique of idealism / [Option ID = 12111]

36) Which of the following is false for Marx:-

Aed & ar | fA=afafiaa 5 9 o9 799 2
[Question ID = 3027]

qfiare drAfse] BRI (FTS—awq@eT) 1 IR &1 of Wl 8

1. Capitalism does not lead to commodity fetishism /
[Option ID = 12107]

2. Capitalists also suffer from alienation / L i I ’lﬁ a1 T 9 I ? [Option ID = 12106]
3. Capitalism produces alienation / [Option ID = 12108]

E & PE %, f E
4, Consciousness is embodied / 75” [Option ID = 12105]

Correct Answer :-
» Capitalism does not lead to commodity fetishism / L CIEREd IIIE | BICR [ 5 1' ! } @1 3R :ﬁﬁ of L ?
[Option ID = 12107]

37) “Each of them by himself may not be of good quality, but when they all come together is possible that they may surpass—
collectively as a body, although not individually-the quality of the few best...and when they all meet together, the people may
thus become something in the nature of a single person...”. In these lines,:-

TR A A TAF F I IR U AR, AP eI I I A W AR e F I aFa s w A afer o e S 3w &
AERE T ¥, FE TAW IS Al F 0N F 3 I wFA ¢, 3R 59 ¥ v vy Bea ¥, a it o v s safFa f ugha i ave a9 wwd
#....”"1 3 9fFaal & [Question ID = 26103]

1. All of these / I9derd @4 [Option ID = 44410]

2. Hobbes is propounding his idea of Commonwealth / 8T8 319e FTHeaed &1 faER TEd & @ & [Option ID = 44408]

3. Rousseau is enunciating how a corporate body possess General Will / F8T g 9fauied X 1 & I Ue FIule TF & 9 g 0iE g
Z=aT 21T & [Option ID = 44407)

4. Aristotle is advocating for the Polity as a rule of the Many / g A & uTEA F T A IE] (TREEeH) 9iferer Y avherl #X @ & [Option ID =
44409]

Correct Answer :-

+ Aristotle is advocating for the Polity as a rule of the Many / sgd AT & 9THe & 9 & HE] (TREEeH) qifere f cRweT #:1 I8 & [Option
ID = 44409]

38) Match the following

Thinker Types of Realism

a. Kenneth Watlz i. Offensive Realism

b. John J. Mearsheimer | ii. Neo-classical Realism
c. Fareed Zakaria iii. Classical Realism
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| d. Hans Morgenthau iv. Neo Realism

frafafaa s fer:

faan= JUTETE & THH
.a.?}??rira”f?vgsr i, HTeFTHE TAUTHdTE
jb.aﬁi-rs‘r. Hrareffae .ii.m-mﬁmﬂﬂﬁiara
:C.fﬁﬂaaﬂﬂﬁm iii. FeTTleher TUTdaTg
d. &9 #Arfears iv. AF-gYTdare

[Question ID = 26034]

1.a-iv, b-i, c-ii d - iii [Option ID = 44132]
2.a-iii, b - ii, c- i, d - iv [Option ID = 44134]
3.a-ii, b - iii, ¢ - iv, d - i [Option ID = 44131]
4.a-i, b-iii, c - iv, d - il [Option ID = 44133]

Correct Answer :-
« a-iv,b-i, c-ii,d - iii [Option ID = 44132]

39) Match the following:

a. Theory of two wheels

i. Kabir

b. Doctrine of Mandala

ii. Buddhism

c. Syncretism

iii. Manu

d. Dharmasastra

iv Kautilya

farfafea # gafaa AT 3k 7@ RFes 1 g Hgre:

| & st 7 R L 7
| b. FswT T ii, atg ot
c. FH=AIATE ii. 7T
ld. STHRMTE iv. ifeea

[Question ID = 26035]

1.a-iv, b - ii, c - iii, d - i [Option ID = 44138]
2. a - iii, b - iv, c - ii, d - i [Option ID = 44137]
3.a-ii, b-iv, c-i, d - iii [Option ID = 44135]
4.a-i,b-iv, c-ii, d - iii [Option ID = 44136]

Correct Answer :-
» a-ii,b-iv,c-i, d-iii [Option ID = 44135]

40) Match the authors with their works

A 15imes Seott i PEI‘&Z':[J‘L‘ICIH and Misperception in International
Relations
B Robert Jervis ii Seeing Like a State
C Ernest Gellner iii The Great Transformation
D Karl Polanyi iv Nations and Nationalism
AATaTad S@s! &1 374 AT & qr Fa= #1
A FY i [ gAY U FAUIEes 8 Sexaead Reead
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B g SEw i i s v ' T
2 HefEe AT i g I TEHIHLUA
D Frel Grefrerdy iv A U8 AAfoTH
[Question ID = 26036]

1.a-ii,b-i,c-iv,d-iii [OptionID = 44140]

2.a-iii,b- iv,c-i,d-ii [OptionID = 44142]
3.a-ii,b-i,c-iii,d-iv [OptionID = 44141]
4,a-i,b-ii,c-iii,d-iv [Option ID = 44139]

Correct Answer :-
» a-ii,b-i,c-iv,d-iii [OptionID = 44140]

41) Structural-Functionalism is primarily:-

A —Udriare IRIfAS $0 9 §
[Question ID = 3049]

faera @1 v faarer
1. An ideclogy of development / [Option ID = 12194]

S BT TP YOTA]

2. A method of governance / [Option ID = 12196]

G B Th TV L |
3. A framework of investigation / [Option ID = 12195]

T & forT T AU
4, A measurement for comparison / [Option ID = 12193]
Correct Answer :-
Wi @1 Ud BUNdl

« A framework of investigation / [Option ID = 12195]

42) Structural-functionalism by Almond and Powell was an application of:-

I AR Ude @ TR AEAe—YaraRe fafad 7 | &R o a3 2

[Question ID = 3052]

R S BT AR ABRbROT g

1. Lucian Pye's Modernization Theory / [Option ID = 12207]
Sidd &1 dgaaa (Uil _
2. Dahl’s Polyarchy / [Option ID = 12206]
3. Rostow’ Theory of growth / Sai& @1 X%etd @1 F&TT (60600 1 = 12208]
A Ih FaRIT BT I D1 U]

4, Easton’s framework of Political System / [Option ID = 12205]

Correct Answer :-

N RIS IR DI 3324 P TUET
« Easton’s framework of Political System / [Option ID = 12205]

43) The core elements common to both classical and structural realism are:-

TP N GETS AR $ e =g T9 & -

[Question ID = 3082]

) gl )
1. Statism / [Option ID = 12325]

R
2. Survival / [Option ID = 12326]

TuRie T

3. All of these / [Option ID = 12328]

4, Self-help / =ieTa [Option ID = 12327]
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Correct Answer :-

TRIET JHI
« All of these / [Option ID = 12328]

44) Which environmental Convention was adopted for the protection of Ozone layer:-

3 T 31 G @ forg 5w gatawelt wwsitar &1 o= 4w

[Question ID = 3093]

fud

1. Stockholm Convention / [Option ID = 12372]
I
2. Montreal Protocol / [Option ID = 12371]
3. Basel Convention / : [Option ID = 12370]
4. Vienna Convention / [Option ID = 12369]
Correct Answer :-
' . SEEIG] ;
« Vienna Convention / [Option ID = 12369]

45) M.K.Gandhi wrote editorials for the first time in which one of the following journals ?

TH. &, Mt o e f@a # ga s 5w 59ia & duedg frar ?

[Question ID = 26112]

1. Samvad Kaumudi / qdi< 4 IE 4 [Option ID = 44445]
2. Indian Opinion / 5

g sfear

3. Young India / [Option ID = 44444]

[Option ID = 44443]

L
4, Calcutta Journal / Peidtil vt [Option ID = 44446]

Correct Answer :-

» Indian Opinion / : [Option ID = 44443]

46) Rawls introduces the ‘veil of ignorance” because:-

Cir B 1 2 R e e 1 e o A 20 . 0
[Question ID = 3033]

waeitar gqen & U WH Weie 9 A BT Aifde

1. Any contract must always start from a blank slate / [Option ID = 12130]

Jurad W)

2. All of these / [Option ID = 12132]

gg yrafae srawen § Jrn @) Rufy & wad fFAae 2

3. It is closest to how people were in the state of nature /

12129]
I8 qafreydd difbddl & @ B B 3T 7

[Option ID =

4, It is a device to eliminate bias in reasoning / [Option ID = 12131]

Correct Answer :-

« It is a device to eliminate bias in reasoning /

I8 qafueygdd difbddl B @ HA B AT 7

[Option ID = 12131]

47) Match the thinkers with their ideas:

Idea Thinker

a. Application of Vedanta to the everyday life of

i. M.K.Gandhi
the common man

b. Application of the criteria of reason and social

utility to sacred texts . Pandita Ramabai
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c. Criticism of modernity

iii. Swami Vivekananda

d. Advocacy for the admission of Women to
Medical Colleges

iv. Rammohan Roy

Fafataa el ik 39 TRt = e

faamt ney

a. 3T #e & VS & Sfaer 7 deiar & wer i T, F, e
;Emﬁﬁﬁmmm:ﬁm&ﬁ e o

c. IMyFAEHar A Hrerd=T jii. Far fEdHreT
d. AT Fioal 7 AR & wader 7 gred iv, THARA T

Codes/fase:

[Question ID = 26092]

1.a-iii, b-i, c-iv, d-ii [Option ID = 44365]
2. a-iii, b-ii, c-i, d-iv [Option ID = 44366]

3.a-iii,b-iv, c-i,d -ii [Option ID = 44363]
4.a-i,b-iv, c-ii,d-iii [Option ID = 44364]

Correct Answer :-

« a-iii, b-iv, c-i, d - ii [Option ID = 44363]

48) Match the following and mark the correct answer:-

A. ]. Ann Tickner i) Post-colonial feminism

B. Cynthia Enloe ii) Reformulation of Morgenthau's Six Principles
C. Sandra Whitworth  iii) "Where are the Women"?
D. Chandra Mohanty  iv) Feminist Critical Theory

Preforiaa & fiomgy 3k w8 ST TR -

A. W e 1) TrE—Siaiad SR

B. fRifwr geia ii) Refedfeter aife wrfres Rie RRiTes
C. dy femi iii) ‘TR IR T F?

D. =@ #is=h 1v) BfifRe fftsa R

[Question ID = 3086]

1. A-i; B-ii; C-iii: D-iv [Option ID = 12342]
2. A-iv: B-i; C-ii; D-iii [Option ID = 12344]
3. Aiii; B-ii, C-iv; D-i [Option ID = 12343]
4. A-ii; B-iii; C-iv; D-i [Option ID = 12341]

Correct Answer :-

« A-ii; B-iii; C-iv; D-i [Option ID = 12341]

49) Match the words with their meaning:

a. Matsyanyay

i. The law of abnormal times

b. Apaddharma

ii. Intending conqueror

c. Vijigshu

iii. Cosmic law

d. Riti

iv. Law of fishes
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i@ ereal 1 Fremse 3R v Rsew 1 9o fifare:

1. #cET =1 i, {GTHT AT &1 F9q

2. JT9eeH ii. gTgeh fasiar

3. fafSrry iii. FE-ATONRT A (HITEAF o)
4. Hifa iv. FaET &1 fFad
Codes/fasey:

[Question ID = 26093]

1.a-iv, b-i,c-ii, d - iii [Option ID = 44368]
2. a-iii, b-ii,c-i, d-iv[Option ID = 44370]
3. a-ii, b -iii, c - iv, d - i [Option ID = 44367]
4. a-i,b-iii, c-iv, d - ii [Option ID = 44369]

Correct Answer :-
e a-iv,b-i, c-ii, d-iii [Option ID = 44368]

50) “Greatest benefit to the least advantaged” is associated with which of the following?

e Rufa arek safFa 1 srftwas wmer Aeafaf@a & & Reed amy 537 g3 #2 [Question ID = 26107]

1. The Communist Manifesto / & s#gfate Hfatheet [Option ID = 44423]

2. None of the above / 3935 # & &Ig a6l [Option ID = 44426]

3. Rawls's theory of justice / T &1 =ama T f&&Td [Option ID = 44425]

4. Aristotle’s distributive justice / 3R&d T facRUTcH® =419 [Option 1D = 44424]

Correct Answer :-

« Rawls's theory of justice / Ued FT =a17 &1 &g [Option ID = 44425]

51) IMG

Match the works in list | with the authors in list |l

LIST-I LIST-II
a. Hindu-pad-padshahi I. V.D Savarkar
b. Wheel of History Il. Pandita Ramabai

c. Tuhfat-ul Muwahhiddin . Raja Rammohan Roy

d. The High Caste Hindu Women Iv. Rammanohar Lohia

T | B e B G 1| B ot W e

T -l

T i

a. ffg—gg—urewmd i. 1 & HrERaR
b. & 36 BR i, afar wmarg
c. QEPT—9el qeTafee iii. RIS XATES T

d. T BE Bre &g IFA

iv. IHAETEY e
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[Question ID = 26109]

1.a-i,b-ii, c-iv, d - iii [Option ID = 44434]
2.a-i, b-iv, c-iii, d - ii [Option ID = 44432]
3. a - iii, b - ii, ¢ -i, d - iv [Option ID = 44431]
4.a-iv,b-ii,c-i,d-iii [Option ID = 44433]

Correct Answer :-
» a-i,b-iv, c-iii, d - ii [Option ID = 44432]

52) Who among the following considered democracy as nothing more than periodic elections and ordinary citizens, beyond the
act of voting, should have no role in shaping policy?

fr=foRag § @ @9 g8 wFar 8 5 dieaa v Aftag saf @ T2 89 a g9al @ saflag §9 78! 8iaT &, 3N
N SRS 3 99 (9% gie <9 &1 JRsN ST 8, $al @ 99 & & 39761 $18 AT 78] sl 87

[Question ID = 3072]

1 A

1. Joseph A. Schumpeter / [Option ID = 12288]
ol STaHe
2. Larry Diamond / [Option ID = 12287]

w3 e
3. Juan Linz / [Option ID = 12286]

L% [ 4 st

HECI
4, Robert Dahl / [Option ID = 12285]

Correct Answer :-

FEE U IR
» Joseph A. Schumpeter / s [Option ID = 12288]

53) Who among the following suggested that ,nationalism can be attributed to the rise of the industrial age"?

frafafaa # & frae e 7a1 % ' Tegame #1 3igas g § 359 F S AT ST AFar ¢ ' ? [Question ID = 26118]
o8

1. Liah Greenfeld / [Option ID = 44468]

i e
2. Anthony Smith / [Option ID = 44469]

I T

3. Ernest Gellner / [Option ID = 44467]

4, Donald Horowitz / : f < [Option ID = 44470]

Correct Answer :-

e T
« Ernest Gellner / [Option ID = 44467]

54) Who among the following said, "caste system is not merely division of labour, it is also division of labourers.”?

Arafaf@a # ¥ Faa g7 Fa1 @& e ey @F o5 F1 Rarsa a8 €, 78 SRS F71 8 Fansr=r #1” [Question ID = 26130]

(=%

1. Jyotiba Phule / [Option ID = 44518]

41 3N, IFESHY
2. B.R. Ambedkar / [Option ID = 44517]

GUERICIFRTT
3. Savitribai Phule / [Option ID = 44516]

4, M.K. Gandhi/ S @, TR [Option ID = 44515]

Correct Answer :-
41l IR :
« B.R. Ambedkar / [Option ID = 44517]

55) Who among the following used models and assumptions drawn from economics to analyse political behaviour?
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frafoiag § 9 5o IoHioe @aER &1 odied 39 © oY RN & Aled AR Araapi & g
f&ar?
[Question ID = 26120]

1. Anthony Downs / Tt ST3=8 [Option ID = 44477]
2. S.M. Lipset / tH. TH, forcde [Option ID = 44476]
3. J.M. Keynes / &1, TH. $=g [Option ID = 44478]

4. Robert Dahl / I19¢ =Tl [Option ID = 44475]

Correct Answer :-
« Anthony Downs / TUI=T 2138 [Option ID = 44477]

56) Who among the following laid stress on the “imagined qualities of nationalism”?

frfoRaa 9 9 fea A & sfewa i W T faar?

[Question ID = 3064]

CRIEE

i SRR
1. Benedict Anderson / [Option ID = 12255]

= et

g glemaE
2. E. Hobsbawm / [Option ID = 12256]

3. Ernest Gellner / [Option ID = 12253]
4. Hans Kohn / [Option ID = 12254]

Correct Answer :-

dHfgae TeveA
« Benedict Anderson / [Option ID = 12255]

57) Who among the following wrote the classic essay, "Science as a vocation”?

fr=faftaa & | foad oirg e aEw U9 & e for or

[Question ID = 3063]

He dav
1. Max Weber / [Option ID = 12249]

Ared fesll
2. Charles Tilly / [Option ID = 12252]

3. Sidney Tarrow / [Option ID = 12251]
I HoA-aad

4. Ira Katznelson [ [Option ID = 12250]

Correct Answer :-

« Max Weber / [Option ID = 12249]

58) Who among the following states, "Public policy is whatever governments choose to do or not to do"?

fAefofag 4 4 fogs a8 a1 € fo oo g 29 919 | ST 2 & TeR |1 31 &1 B9l &l 8,
R T TE FE BT DHAT BRAT 2

[Question ID = 3056]

1 g dicd

1. B.Guy Peters / [Option ID = 12221]

2AHE . Sz
2. Thomas R. Dye / [Option ID = 12223]

Sfag A

3. David Easton / [Option ID = 12222]

CIEAI

4, Y, Dror [ : [Option ID = 12224]

Correct Answer :-
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« Thomas R. Dye / [Option ID = 12223]

59) Who among the following scholars conceptualises Indian constitution as a 'seamless web'?
rafaf@a # @ fre Reas & sy @fue £ seeaen w@fFa dore (@Faw 39) & 37 7 i 2 [Question ID = 26095]

1. Subhash Kashyap / 89 399 [Option ID = 44378]
2.D.D. Basu /2. 31, &4 [Option ID = 44376]

3. Granville Austin / IAfaer 31Tf&esT [Option ID = 44377]
4, M. V. Pylee / TH.AT. 9relr [Option ID = 44375]

Correct Answer :-
« Granville Austin / I=Tae 3iTTEe=T [Option ID = 44377]

60) Who among the following described India as quasi-confederacy?

fafafag 4 9 fFa= 9Ra &1 aviF E—uRyey & $u ¥ fear?

[Question ID = 3014]

b

1. Granville Austin / [Option ID = 12055]
2. W.H.Morris Jones / [Option ID = 12056]
3. K.C. Wheare / - [Option ID = 12053]
HIO 4%
4. Myron Weiner / [Option ID = 12054]
Correct Answer :-
« K.C. Wheare / [Option ID = 12053]

61) Who among the following questioned the claim that Public Administration is a science?

ffafag 4 @ f5aa 59 S &) ywEifed 5 & aie yomas te fagm 22

[Question ID = 3053]

Ua. 3fda

1. L.Urwick / [Option ID = 12211]

L4

Bd TS
2. Frank Goodnow / [Option ID = 12212]

3. Luther Gulick / [Option ID = 12209]
Jac S
4, Robert Dahl / [Option ID = 12210]
Correct Answer :-
i r S

« Robert Dahl / [Option ID = 12210]

62) Who among the following introduced the concept of 'Zone of indifference’ in an organisation?

A # @ fFae gerea & 'sErdfiaar & &7 Y JrTUrRon A qFATT Y [Question ID = 26116]

1. Chester I. Bernard / 3“?; [Option ID = 44459]

2. Chris Argyris / fsha IR [Option ID = 44461]

3. Douglas Mcgregor / d [Option ID = 44462]
gXde HIgHA

4, Herbert Simon / [Option ID = 44460]

Correct Answer :-

» Chester 1. Bernard /

[Option ID = 44459]
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63) Who among the following is not a liberal thinker?

frrfofias o © @19 ve Serae! s 78t 27

[Question ID = 3084]

1. Michael Doyle / lZhel €lde [Option ID = 12335]

TWIHT aree
2. Stephen Walt / [Option ID = 12333]

S ST g

3. G. John Ikenberry / [Option ID = 12336]

4, Robert Keohane / E [Option ID = 12334]

Correct Answer :-

WK alee
« Stephen Walt / [Option ID = 12333]

64) Washington Consensus refers to:-

aIf¥nTes FHEERy Gad &
[Question ID = 3092]

1. The ten point neo-liberal guideline to liberal economic reform for development around the world /
o T # e @ oy STRaE] anftfe R @ R ¥ To-Senae] fRyw-Mey @ I9 fig

2. The ten point neo-liberal guideline to liberal economic reform for development in Europe /

T A e & o SeraE! anftfe R @ IR 4 Jo—serard! -y % 7w fig
3. The ten point neo-liberal guideline to liberal economic reform for development in the USA /

quae ¥ fae & forg SerarE) aftfles @R @ IR # To—senard! -y & 2w fig
TR § § Big T8

4. None of these / [Option ID = 12368]

[Option ID = 12367]

[Option ID = 12366]

[Option ID = 12365]

Correct Answer :-
« The ten point neo-liberal guideline to liberal economic reform for development around the world /

o T # e @ forn STRaE! anftfe R @ R # To-genae] Rw-FEy @ I3 f{§g Option ID = 12367]

65) The emergence of Public Administration as a discipline is associated with which of the following:-

TS FET B TU W dle qened &1 9ed Frefofad § | feed oe 8

[Question ID = 26114]

1. American Society of Public Administration / 3#{I%= GrATEEr 3w gfees vefATATS [Option ID = 44451]
2. Indian Institute of Public Administration / 3% ¥diege 3% ufeas vsfATAEIw= [Option ID = 44454]

3. Minnowbrook Conference / fA==Tgsh 1t [Option ID = 44453]

4. Comparative Administration Group / F#aifea TsfATAFE= 9 [Option ID = 44452]

Correct Answer :-
» Minnowbrook Conference / =i T [Option ID = 44453]

66) Which of the following is not true of Rousseau?

T4l @ aN § fA=fefag 4 9§ ¢ 9= F87 87
[Question ID = 3031]

1. He wants to reconcile liberty with sovereignty / EASEELICIR kil GAEEIRIR IS E?
2. Sovereignty originates in people and gets transferred to ruler /

WP AR W S Bl @ SR e @ U gwdaieG g W € [Option ID = 12123]
a3t &9 & Afte vu 9 GEl B 8

3. General Will is always morally right / [Option ID = 12124]

[Option ID = 12122]
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d WAl & AORIAD greedol TR B &
4, He holds a positive view of liberty / ? [Option ID = 12121]

Correct Answer :-
» Sovereignty originates in people and gets transferred to ruler /

WO @R 9 S el @ 3R ure $ ury gxaiand g W) 2

[Option ID = 12123]

67) Which of the following is not true of Marx's view of the state:-

iR aridsTud el @ IR § 9g 981 2

[Question ID = 26106]

1. The proletariat will need to capture state power /| TgRT & U Heal 9T FHeal il 2197 [Option ID = 44422]

2. The state is an instrument of class exploitation / I @37 29T & TH I=F & [Option ID = 44420]

3. The state is necessary for resolving class conflict / 337 Terd &7 g e & TaT Ug Hag® § [Option ID = 44421
4. The state will wither away / T tf-61Y @eA 81 AT [Option ID = 44419)

Correct Answer :-
« The state is necessary for resolving class conflict / @37 Te¥ &7 gof ATerat & fore T 3mgegs & [Option 1D = 44421

68) Which of the following is not the basic principle of Hans J. Morgenthau’s Realism?

frafaf@a # ¥ ot §0 . Anfeurs & gurdare &1 g RAgia &2 [Question ID = 26121]

1. Politics is governed by universal moral values. / » I w BIfl &
A @ s 2

2. Politics is autonomous / [Option ID = 44480]

oo #a g F Afta s e
[Option ID = 44479]

T feg o vfdw @ ded | afvafa fear o 2
4. National interest is defined in terms of power / [Option ID = 44481]

[Option ID = 44482]

3. Politics is rooted in human nature /

Correct Answer :-

AeHIfG AdHIEE Afas Aol | miea Bl
« Politics is governed by universal moral values. / ? [Option ID = 44482]

69) Which of the following treaties ended the thirty years war:-

frferfaa # & form wasild @ o adfa gg &1 w9 587
[Question ID = 26123]

1. Peace of Westphalia / a&ethferar #r enfd [Option ID = 44488]
2. Treaty of Vienna / T&@3=1r 1 & [Option ID = 44490]

3. Treaty of Utrecht / g¢=e &1 §TY [Option ID = 44487)

4, Treaty of Versailles / aH T Hr [Option ID = 44489]

Correct Answer :-
+ Peace of Westphalia / aFethferar &1 eifa [Option ID = 44488]

70) Which of the following pacts resulted in a compromise between Ambedkar and Gandhi on the issue of separate electorates?

que fratas dse & 72 W swasa A et § g qesta & sRor Sia |1 de @ 3mar? [Question ID = 26129]

1. Lahore Pact / @&l d%F¢ [Option ID = 44512]

2. Lucknow Pact / @@= dae [Option ID = 44513]
3. Delhi Pact / f&=eir S [Option ID = 44511]

4. Poona Pact / 9= e [Option ID = 44514]

Correct Answer :-
» Poona Pact / 9=T 9% [Option ID = 44514]

71) Which of the following is not included in the list of essential elements (Prakriti) of a state as identified by Kautilya?

fFrfaf@a # § 5 FifteT 2arT a0/ T 0 TS F A aedl (T5ha) i g F afFafaa 7€ @ srar € ? [Question ID = 26126]

oo .
1. The minister / [Option ID = 44500]
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&7 3N guBT TaEn

2. The territory and its population / [Option ID = 44501]

3. Nationalism / [Option ID = 44502]
4. The ruler / [Option ID = 44499]
Correct Answer :-

« Nationalism / [Option ID = 44502]

72) Which of the following does not constitute a central idea of the ,Instrumentalist” school of ethnicity?

fArafaf@a # #la Srdaa & 'g2ady (FeraciaTe) o &1 F19 A9R 82 [Question ID = 26119]
ag W g AR e’ Jenedr o e g 2 N——

T GRIRT @ Wed g 39 U MeR faar 2

2. Is shaped by the ways political institutions are designed / [Option ID =
44474)
3. Is neither inherent in human nature nor intrinsically valuable /

g7 9 d 99 YEHia | gifed gl 2 AR 9 &1 afcas ¥ 9§ {eudd gan
F AR T T b [Option ID = 44473]

1. Is based on ,shared blood” and ,shared ancestry” /

[Option ID = 44471]
4, Is a construct of the modemn epoch /

Correct Answer :-
= g9 AR GrE genddr o A g
« Is based on ,shared blood” and ,shared ancestry” / e o ? [Option ID = 44472]

73) Which of the following is not a feature of Ram Manohar Lohiya“s concept of ,Sapta Kranti”?

AR # & v R AAE At 1 wea Fifa” F @ervar a8 § ? [Question ID = 26128]

fEws wify
1. Violent revolution / [Option ID = 44510]

Higem &1 qfed

2. Emancipation of women / [Option ID = 44509]
3. Abolition of caste / i 8 [Option ID = 44508]

4. Economic equality / [Option ID = 44507]

Correct Answer :-
fEus wifa
» Violent revolution / [Option ID = 44510]

74) Which of the following statements is not true of Hobbes?

gl @ IR | Fmforiad § @ 19 91 s wd 98 €

[Question ID = 26104]

1. There is no occasion for disobeying the sovereign / EWs] T 31T Telet & hiel T IS IHGHT 61 g1l ¢ [Option 1D = 44413]
2. Sovereign is a product of a pact / HY3] U FHHAIT & 3cTa=1 gl & [Option ID = 44412]

3. Sovereign must be absolute or nothing / T3] IT A 31H1A &A1 € 41 $& Y 77gl g1 & [Option ID = 44414]

4. Law is command of the sovereign / =Tele HY3] W & [Option ID = 44411]

Correct Answer :-
» There is no occasion for disobeying the sovereign / T3] FT HTAT UTelel o F=1 & HI$ AT AAT a1l & [Option ID = 44413]

75) Which of the following statements best describes the scientific character of Comparative Politics?

frfafed § @ B9 9 RA @ AuHi @ deiHe aRE & 999 el TRE aUH ST 87

[Question ID = 3050]

1. Comparative political analysis is basically reducible to ideclogy and opinions /

TS Iot-lad favetger Ifard] vu 9 fagmerr ok fERt 3 gemn o 9@ @

[Option ID = 12200]
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2. Comparative political analysis is a type of science that probably cannot produce knowledge of the same degree of certainty as in the physical
sciences /

q TS IS [3eeaye s &1 U 391 UoR § W uge \ifvs fasm @) fAfeas @ «R &1 39

IO 81 IR HaHal B
[Option ID = 12198]
3. Comparative political analysis is a non-explanatory mode of science /
oS e Iae faveael fas &) IR-ar=eid gordl 2
[Option ID = 12199]
4, Comparative political analysis is just like the physical sciences in its ability to produce certain knowledge /

TS IS [agelgv] FREd 519 S0 &1 @ AWa 4 Ao [aeH 31 0%E 8

[Option ID = 12197]

Correct Answer :-
« Comparative political analysis is a type of science that probably cannot produce knowledge of the same degree of certainty as in the
physical sciences /

TS Aol faeur fasm= &1 te 391 UK © & 9E wifte fagm &1 FAieaar & ¥R &1 99

I~ 2] HY ol B
[Option ID = 12198]

76) Which of the following statements are correct with respect to the Global Commons:-

i. These are areas not under sovereign jurisdiction.

ii. They have an environmental dimension.

iii. They are owned by nation-states.

iv. The high seas, deep ocean floor and outer space come within this category.

A BIATH D TN A AT # W B W HUE Wel 87
i 33 &9 € O w B Aer—aF § T8 8
11. 951 U qIiaveiig AT &
1i1. T W T=—1od] & WIed &

iv. 9= G, e W) de SR et ©IF 39 sioft 7 o @
[Question ID = 3089]

f&® 1, 11 SR 1V
1. i, ii and iv only / [Option ID = 12354]
o e 1, el
2. i, ii and iii only / [Option ID = 12355]
1, 11, 111 SR v
3.0, ii, dii and iv / [Option ID = 12353]
o e 11, 111 3R 1V _
4, ii, i and iv only / [Option ID = 12356]

Correct Answer :-

o % 1, lsikiv
« i, iiand iv only / [Option ID = 12354]

77) Which of the following propositions is not found in Classical Realism?

FaraHol gurfare & fA=fafag & © o149 9@ F81 9y Jar 27

[Question ID = 3081]

1. The structure of international politics is anarchic / i B WY IR ? [Option ID = 12324]

2. States act on the basis of their self interest/ o0 - 160 & IR T $1 HY © [Option ID = 12323]
2 o7 U I Afed S GSH ° UG fear wiET &

3. The concept of interest is defined in terms of power / [Option ID =

12322]
v @ frt B gare W gt d Pt B e oo

4, The laws of politics have their roots in human nature /
12321]
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Correct Answer :-

» The structure of international politics is anarchic / AL i ST BT /T ST ﬁ [Option ID = 12324]

78) Which of the following propositions is not given by the theorists of Complex Interdependence:-

wiew aafidva ¢ REmsn e F=afag & 9 &9 w1 g =98 2o 77 &

[Question ID = 3080]

FAUE AT D R H IS B IE B

1. There is an absence of hierarchy among issues of international politics / [Option 1D
= 12319]
Fvrtg o # @ wfe ST 957 oiet 4w s
2. There is a minor role of military force in international politics / [Option
ID = 12320]

I UF UHIAsh ol B
3. The state is a unitary actor / [Option ID = 12317]

fafeer #east @ w9 o 59 8

4, Multiple channels connect societies / [Option ID = 12318]

Correct Answer :-

_ T U UHTHE Sl &
» The state is a unitary actor / [Option ID = 12317]

79) Which of the following authors gave the concept of the 'Tragedy of Commons':-

Fr=folag # 9 fou oas 7 “asn o e (3! T Fia) $1 TR a 17

[Question ID = 3085]

T e

1. Jon Barnett / [Option ID = 12340]

TR daeliS
2. James Lovelock / [Option ID = 12339]

e sl

3. Garrett Hardin / [Option ID = 12337]

FTd ATH

4. Carl Sagan / [Option ID = 12338]

Correct Answer :-

e st

» Garrett Hardin / [Option ID = 12337]

80) Which of the following was not a distinctive feature of the dharmasastra tradition in India

frfafas § @ &9 9yrg # ooy geowr &1 faftre g =87 2

[Question ID = 3094]

fagmt 3 ofdw &t ggfy ok o) w @ st fear @

1. Scholars concentrated on the nature and mechanics of power /
[Option ID = 12375]

2. Scholars of the tradition discussed the sources of dharma / T W & fagTt A oF 3 il B e 31 ? [Option ID =
12373]

3. Scholars provided a detailed prospectus of duties / E " i o ] : %“
4. Scholars provided a detailed code of conduct covering the entire human life /

fagmi A WUl w9 ffad & e dTaT NGy A Wiear Sudel &VE &

[Option ID = 12374]

[Option ID = 12376]

Correct Answer :-

fagmt % ofm o1 yghy sk T W oW sieg @

» Scholars concentrated on the nature and mechanics of power /
[Option ID = 12375]
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81) Which of the following is true:-

fr=farfgg § 9 o9 91 599 99 ©

[Question ID = 26124]

1. Both globalists and skeptics believe that the states are losing their power in the globalized world / &f¥asardy 3k Tegardl- et & A & &
dedtad fed #F To 39eh ofFa @ W@ ¥ [Option ID = 44493]

2. Globalists believe that the role of the state is eroding in the present times / 3Ra&aIdl a8 AT ¢ & TAATT FH7T & [T & HIAST FHI &R0 &Y
8T & [Option ID = 44491]

3. None of the above / 39ad # ¥ FI1S A&T [Option ID = 44494)

4. Skeptics believe that the role of the state is eroding in the present times / HEEATE AT & & ToA THT H Ty 1 HFAT 7 &0 2 @ &
[Option ID = 44492]

Correct Answer :-

« Globalists believe that the role of the state is eroding in the present times / 8fRasardr @g AT & & g 87T A T & AT F1 7707
27 T@T & [Option ID = 44491]

82) Which of the following level of analysis is not discussed by Waltz in his book Man, The State and War:-

dlccwl A AU Te A7 @ wee U9 g g efafag F 9 59 wR &1 fageyor 78t e £

[Question ID = 3077]

1. State level / R [Option ID = 12307]
feas wR (IEfes oad)
2. Dyadic level / [Option ID = 12306]

. AT WY .
3. Individual level / [Option ID = 12308]

YU FTT &Y
4, Systemic level / [Option ID = 12305]

Correct Answer :-
fras wR (Sfss oaw)
+ Dyadic level / [Option ID = 12306]

83) Which of the following is true?

frreifoiiaa & & «1 99 27

[Question ID = 26127]

1. Both Gandhi and Tagore regarded nationalism as a menace / TTell 3T ¢3TR- AT = Ivgare T T g & 9 H <@ [Option 1D = 44504]

2. Both Gandhi and Tagore advocated the use of charkha / 71Tl 3R 291R- S1AT o TL@T % 39T HT dFBENRT I [Option ID = 44503]

3. Tagore disagreed with Gandhi”s programme of non-cooperation / 31T = ITEl & HEAT FEFHH A FHEHATT Ads [Option ID = 44505]

4, Tagore supported the use of violence while Gandhi opposed the use of violence in freedom struggle / T & FTaa=aar & FuY¥ # Far & 39T
7 FHS Far adt aifel & Raw & 39T @7 Ry R [Option 1D = 44506)

Correct Answer :-
« Tagore disagreed with Gandhi”s programme of non-cooperation / &1 & el & JTEAT FAFH & FHFATT FAS [Option ID = 44505]

84) Which one of the following is true about the First World War:-

i. It was the first modern, industrialised total war.

ii. It was fought between 1939-1945

iii. It began between European States and fought on European Battlefields.
iv. It is also known as the Great War.
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wF favg g5 @ IR # Ffofeg & o9 o ad w9 €
. TE UEe IR, Jtarima f gg o
li. T 1930-1045 & dF T AT
iii. o5 R ol @ § o g3 SR RIU T gE—&A B 4/ oS T
Iv. 39 WM g€ 3 ©9 | 1 e o 8

[Question ID = 3087]

faw 1, 11 3R 1V
1. i, ii and iv only / [Option ID = 12348]
f® 1, 11 3R 111
2. i, ii and iii only / [Option ID = 12345]
o faw 1, 11l 3w 1v |
3.1, iii and iv only / [Option ID = 12346]
1, 11, 111 3R 1v
4, i, ii, il and iv / [Option ID = 12347]
Correct Answer :-
s fw 1, 1l afiv iv ,
« i, iii and iv only / [Option ID = 12346]

85) Who gave the ‘domino theory’ about the geopolitical consequences of the victory of Vietminh during the cold war:-

id gg & 99 fagafis &) Sid & §—Ueriifae Tdl ® 98 § SifEqr fagia faar o -
[Question ID = 3078]

T1E 9o g

1. Bernard Baruch / [Option ID = 12311]

2. Joseph Stalin / [Option ID = 12310]

Tufd BAS!

3. President Kennedy / [Option ID = 12309]

AU AR

4, President Eisenhower / [Option ID = 12312]

Correct Answer :-

WUl ATSAHEIAY

» President Eisenhower / [Option ID = 12312]

86) Who first described Congress hegemony in India in terms of one-party dominance?

Hed Ugd fbud 9Ra H $1U9 & gEW B Td—add T & 99 ¥ afvid fear?

[Question ID = 3015]

S

Uil ¢
1. Paul Brass / [Option ID = 12060]

Wy AR ,
2. James Manor / [Option ID = 12059]

IR A IR

3. Rajni Kothari / [Option ID = 12057]
4. LRudolph& S. Rudolph / Lcl. ©STeth IR TN, BSlch [Option ID = 12058]

Correct Answer :-

T BN

« Rajni Kothari / [Option ID = 12057]
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87) According to Foucault power-knowledge relationship is:-

BHl B IER, AT—T1 & Ge FT @HT T E
[Question ID = 3091]

1. Independent / [Option ID = 12361]

TUIET § § g A8

2. None of these / [Option ID = 12364]
LECSEAN

3. Mutually Constitutive / [Option ID = 12363]

4, Contradictory / [Option ID = 12362]

Correct Answer :-

« Mutually Constitutive / [Option ID = 12363]

88) According to the "Hind Swaraj” the major obstacle to Indian Self-government is:-

"fRT WIS $ AR ARAY WA & I H A 4T a1 @

[Question ID = 26110]

1. British Government / ffer §3&1¢ [Option ID = 44436]

2. Extremist politics / 31fratér sty [Option ID = 44437]

3. Indian elites / 3T #fAS [Option ID = 44438]

4. Sectarian Nationalism / TehfeIaT Iregate; [Option ID = 44435]

Correct Answer :-
« Sectarian Nationalism / 'Hg—"ﬁl?-r {re¢dre [Option ID = 44435]

89) According to Kautilya ,,Danda” is the symbol of:-

Fifced & IR a8 TS © ¢

[Question ID = 3102]

1. Discipline / [Option ID = 12408]

R
2. War / [Option ID = 12405]

]
3. Punishment / [Option ID = 12406]

4. Sovereign / [Option ID = 12407]

Correct Answer :-

« Discipline / [Option ID = 12408]

90) According to Pradeep Chhibber, “"weak associational life” in India results in:-

YEIT et & HTUR HRA H "FASN FEAMTeAS Sfta”’ FT Adia riaiad # d 5w 7 # @+ 3 § [Question ID = 26100]

Tt goft @)
1. Consolidation of social capital / [Option ID = 44397]

v vfgefave I

2. An activist State / [Option ID = 44395]

gy AR F1 faws

3. Fragmentation of the party system / [Option ID = 44396]

AT A H 9219

4, Change in electoral law / [Option ID = 44398]

Correct Answer :-
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ue nfdefdwe I
» An activist State / [Option ID = 44395]

91) According to L. Rudolph and S. Rudolph, caste in India fosters democracy for all of the following reasons except one.
Identity the exception.

U Telch IR TH Teleh @ IR, ¥Ra d wifd Fr=fofea 4 4 e &1 sigar ol sroi 9
dAldasl Bl dgral 1 2| JUarE &1 ygEE i |
[Question ID = 26099]

1. Produces a new set of caste leaders / ST AAT3HT T Tk 74T FHE IR FHcr & [Option 1D = 44392]

2. Ensures affirmative action policies by the state / T3 ZaRT FhRIcHS FRaTs H Afadl F AT FIA & [Option ID = 44393]

3. Makes caste a sacred rather than a secular entity /SITTa & Fgert & sy afas wog # gRafdd # &l & [Option ID = 44394]

4, Tt capacitates a politically illiterate mass electorate to organise / Tg TT=lTcd 9 H HHATER HIGIAIHT & a3 [BEH I TS gl T &THTT Tl
7Y & [Option ID = 44391]

Correct Answer :-
» Makes caste a sacred rather than a secular entity /STl &7 ¥gherl & FoTr ufaT @ag # dRafcd T &t & [Option ID = 44394]

92) According to Aristotle, the state is the highest association because:

IR B AR, I TS Wared Ay (THiRUeH) 2 331t

[Question ID = 26102]

1. it aims at moral fulfilment of citizens / SHaT &d AT &1 =Afde qoTar giar & [Option ID = 44405]
2. it ensures economic self-sufficiency / &g HTcA-TA#RAT AT T & [Option ID = 44403]

3. it undertakes distributive justice / g fAaIUTeHS =TT &1 T HLaT & [Option ID = 44406]

4. it possesses sovereignty / S8 98 Wﬂjﬁﬁ T & [Option ID = 44404]

Correct Answer :-
» it aims at moral fulfilment of citizens / $HT & AIHI HI aATcieh JUIAT gidT & [Option ID = 44405]

93) The terms ‘Command Polity’ and ‘Demand Polity’ were coined by which of the following political thinkers:-

e & ¥ e ueeifas fans 8 'afa awa (FA1E gifed) 3R A e (BaE gifad) wsemae F1aad gge 39T fFar
[Question ID = 26097]

1. Francine Frankel / %5¥1eT theher [Option ID = 44384

2. D. L Seth / 3. ue. @& [Option ID = 44383]

3. L. Rudolph & S. Rudolph / Tel. 3w 3R vd. T2Te® [Option ID = 44386)
4, Rajni Kothari / TS=iT FIaHT [Option ID = 44385]

Correct Answer :-
« L. Rudolph & S. Rudolph / T&. T2Te® 3T UF, F2lew [Option ID = 44386)

94) The Saptanga theory of state is described in which of the following texts?

g &1 g fgia Fefafea 9 9 ey gwe § atfa 27
[Question ID = 3041]

CIEC R .
1. The Brahmanas / [Option ID = 12162]

fawy erterT Rt

3. The Arthasastra / STRIRINA [Option ID = 12163]

e

4, The Digha Nikaya / [Option ID = 12164]

2. The Visnu Dharmottara Purana / [Option ID = 12161]

Correct Answer :-

» The Arthasastra / :HEjE” | [Option ID = 12163]
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95) The Ninth Schedule to the Constitution was added by which of the following amendment:-

frforitaa e grr e § Sl S i Srer T -
[Question ID = 3013]

gl HIEHA
1. First Amendment / [Option ID = 12050]
N L.
2. Tenth Schedule / [Option ID = 12051]
s L.
3. Seventeenth Schedule / [Option ID = 12052]

Ly

4. Fourteenth Amendment / [Option ID = 12049]

Correct Answer :-

gl GUIRE

» First Amendment / [Option ID = 12050]

96) The theory of "just war” can be attributed to which of the following:-

fFrfofeg 9 | et =T 98 &1 faga gwd fBar?

[Question ID = 3070]

1. Immanuel Kant / g 113131' Bie [Option ID = 12278]

o

 3let et .
2. Ole Holsti / [Option ID = 12280]

3. Hans Morgenthau / [Option ID = 12279]
4, Samuel Pufendorf / i IS pISI [Option ID = 12277]

Correct Answer :-

« Samuel Pufendorf / | 37 IIE TSTY [Option ID = 12277]

97) J.Mill's harm principle states that:-

. . e 1 arfe R Fean @
[Question ID = 26105]
1. Prevention of harm to self is found for restricting liberty /

e B IHEE UgdH | Udd B [ WaFdr U= Wiaes Fmar off 96l §
2. Prevention of harm to others is the only ground for restricting liberty /

R =g AT &1 JPaH Ugar 9 Adhd & fo Waaar W gfdss oman 1 gl 2
H3 A1 @ O 9 Gg ¥ Wafd & T8 sl 8

[Option ID = 44416]

[Option ID = 44417]

3. There are no purely self-regarding actions /
TG GHI

[Option ID = 44415]

4, All of these / [Option ID = 44418]

Correct Answer :-
« Prevention of harm to others is the only ground for restricting liberty /

% aFg ST &1 H9H UgaH 9 AP $ fol Wl R giied S &1 a8

[Option ID = 44417]

98) The notion of "Administrative man” was coined by:-

“gemafa® safFa” $ir srauron #Y F491am: [Question ID = 26113]
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#ag A

1. Max Weber / [Option ID = 44447]

gfae arce!

2. Dwight Waldo / = [Option ID = 44450]

o TP, 2aiX

3. Charles F. Taylor / [Option ID = 44448]

gxde HIZAA
4. Herbert Simon / [Option ID = 44449]

Correct Answer :-

g3gc 92
« Herbert Simon / [Option ID = 44449]

99) Who is the author of the book, "Silent Spring” ?

“grgeie Tl fhame & @ #i9 § ? [Question ID = 26131]

WA BEA

1. Rachel Carson / [Option ID = 44519]

ARATHT FATET
2. Naomi Klein / [Option ID = 44520]

3. Henry A. Kissinger / %

NS SETE
4, Jared Daimond / [Option ID = 44521]

[Option ID = 44522]

Correct Answer :-

WA B
» Rachel Carson / [Option ID = 44519]

100) Makkali Gosala belonged to which of the following traditions of Indian thought?

qadTelt TraTe fFr=fefaa § @ yeia figa @) g wowr @ et &2

[Question ID = 3039]

1. Determinism / [Option ID = 12155]

wifgqsare
2. Materialism / [Option ID = 12156]

EEReL]

3. Jainism / [Option ID = 12153]

4, Buddhism / Eﬁﬁ gH

[Option ID = 12154]
Correct Answer :-

» Jainism / tﬁ:‘ %Ff [Option ID = 12153]
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